HXE2S BEFEiEAmFANLGR—E
T = % AETEBEREETSE AALAEHE STE T E (< 1% D 1% $(a) 0.8
T ES 5 T RAEMAL KRBT K S B s EIC R D% D) 0.2
A KL EE Bl 4% (FdR) 16,245,000 A | % & (Frid) 17,869,500 =] =IEAFLEE (xmin) 16,000,000 A
3 #L Hl <S#xE11H21H EALE 98.5 % BEffififmfima s (ymax) 155
. AMUBHE B0 P | g | AEERSxG | EWEEAY || EEEEAExO | T g
wmR X F7 A IE IE REE
x) X=(xmin)=(x) X 100 X (a) (y) ) Y=(y)=(ymax) X 100 X (b) | X+Y
- it #0 16,150,000 5 79.20 145 2 18.70 97.90 2
AL (#F)H x4 16,000,000 1 80.00 155 1 20.00 100.00 1
- AT 52K 16,000,000 1 80.00 130 5 16.76 96.76 5
- BEEEHXK 16,050,000 3 79.68 130 5 16.76 96.44 6
- RAEEERB) 16,070,000 4 79.60 140 3 18.06 97.66 3
- B 16,195,000 6 78.96 140 3 18.06 97.02 4




